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GUJARAT TECHNOLOGICAL UNIVERSITY
Diploma Engineering - SEMESTER-I1 « EXAMINATION — WINTER ° 2014

Subject Code: 320007 Date: 03-01-2015
Subject Name: Elements of Civil Engineering
Time: 10:30 am - 01:00 pm Total Marks: 70

Instructions:
1. Attempt any five questions.
2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.
4. English version is considered to be Authentic.

Q.1 Answer any seven out of ten.

Define : i) Base line ii) Offset

Define : i) Leveling ii) Height of instrument

Define : i) True Meridian ii) Whole Circle Bearing

Define : i) Building Plan ii) Site Plan

The importance of Bearing capacity of soil, While selecting most economical

site for industrial unit.

Define : i) Building Line ii) Building Bye Laws

7. Give reason for Industrial building are situated adjoining either a railway or a
road way.

8.  State the main provision made in IS 2974 Part-11 for Frequency of foundation.

9. State the uses of following Glasses.
i) Sheet glass ii) Wired glass

10. Define : i) Admixtures ii) Curing of concrete
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Q.2 (a) Explain Ranging of a survey line. Describe Reciprocal Ranging.
OR
(@) Calculate angle “A” from following Bearing.
FB of line AB = 45° 30"
FB of line EA = 55° 30
(b)  Write full forms for the following.
i) GT ii) XPM iii) MH

OR
(b) Sketch symbols for the following Building components.
i) Brick work i) Exhaust fan iii) Indian type W.C Pan
(c) List the instruments used in chain and tape survey
OR

(c) Explain local attraction. What precautions you will take while reading bearing
with compass?
(d) Draw a sketch of Dumpy level and lable its important parts.
OR
(d) Explain temporary adjustment of dumpy level.

Q.3 (a) Explain difference between Map and Plan.
OR
(@) Write short notes on Set back.
(b) State the Bye-Laws for Stair.
OR
(b) What type of information should be collected while carrying out market survey
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for an industry.

(c) Draw typical lay-out for small industrial shed showing important units. 04
OR

(c) State factor to be considered while selecting site for industrial shed. 04

(d) State different factors to be considered in designing machine foundations. 04
OR

(d) Draw (Not to scale) a vertical section passing through a room of a single 04

storeyed building.

Q.4 (&) Write short notes on Water cement ratio. 03
OR

(a) State the cause of failure of machine foundation. 03

(b) State the ingredients of concrete and explain in short importance of each. 04
OR

(b)  Write short notes on method of Compaction of concrete. 04

(c) The following readings were observed while levelling on continuously falling 07

ground with 4 m. staff. First reading on B.M RL = 100.00 m. 1.305, 2.635,
3.950, 1.365, 1.950, 2.400. Calculate R.L of all points, apply arithmetic check.
Use Rise and Fall method.

Q.5 (&) What points should be considered while storing cement? 04
(b) Differentiate between Brick and Stone. 04
(¢) How parking facilities should be provided for an industry? 03
(d) State the effects of Shape and Size of aggregate on the strength of concrete. 03
ool
usl. 1 gaHill SleuRL Ulctoll wallot . ¥
. cAlURAL AUUL 1) HLULR UL Q) AsAL
2.l AW 1) Adellol ?) Aaclot Gusuale(l GruES
3. el AL 1) g ARlSlaet ?) yelgd aRla
¥, cuAl UL 1) USslolall als2l ) AU sl
W ARl AsHoell Nl 535uYsc UE( sal sl “esH{loto{l

AR M AL ofl WdlRUAL UMt
cqludl WL 1) GlUsiH UL R) wiusiHatl Uatlal

9. SREL AW : ULOLs Hslell A HIT WAL 2l WSl Sl B,
AURct Hlols UAURA 1.S 2974 @UdL-1I Hi “wllell sce{l” 12 otssl
s Yul Y100 Rl

¢. oA eldd slUetl YsiR AR Aol UL AW,
) 2lle oAl ?) alau§ st

0 clludl AL 1) AsMead R) sle ol dre

Yal. 2 A AR} wRwEL AeA 9? {Ulse 2eloL [Qotdallr Al 03
ucl
AU olA AR ANl Heedll WAl “A” L sLal. 03

2/4



Ust.3 A

sy A

£

Ul AB ofl 391 QoL = 45030 ®.
2l EA ofl 291 QoL = 55030 .

(1A U sl a3Wall Yol ud AW,
) GT ) XPM  3) MH

waal
ol Aotlofl Astl A

) S2ef ALLAR ) UsAle %ol 3) alrcllal 2all s
Usn WA 2U AT auRpAl Altlelloll A€l olettal.
el
UBs sEl wHestdl sWH ad Aot Aslot Adl awa R s
58 sl A9l ?
srflAdde] RURA €131 Aol WdlRstl INatL olli AV,
el
siflAaco] eoudl UMt YHestal.

ellol Aol al$2ll AR dslalcd AHxial.
wcll
Aeals (A sl AU,
ELER HIS Ual SIRAEL Haolatl LREN wRUl.
wcll
5165 GElolefl &UUL sall HIR HBe AT ara dal ysRe(l usldl
As2 5l SSA 2
sllotl WLUELs As MR oAyollelR A-uG2 €3] AUl wdlUall Us
galdal.
wall
ULOLs Asoll ol oissl scl M2 wllatHl Aclloll Y&l wRUA.

Hlot $51God et BRIt 5l LllotHl AallHl Aleldl USlotoll aelal.

AUl
A5 Hlnell Hslotoll 3Ho(l [ allcHiell U Ul Glell AULSDEA U
¥l a8l) e

dle? RiNe 22l QA gsellu el
ucl

AAell WAL [ esclloll $1RENL AU

slglecil desl wRUAl Wal ER50] SSHL Hecel AU,
ucl

3/4

03

03

(0} 1

(0} 1

(0} 1

(0} 1

03

03
03

03

0¥

0¥

0¥

0¥

03

03
(0} 1



Ud. v

o w £ &

slsleatl 510520t ofl Al (A 5ollel AUl 0¥
4m. ol Qacllol etgell oA s Add Al wHlole] dA&RL sl 09
o{lAell WAASN AclHL WAA B, YUHBMAAS dcdRod WIR. A

= 100.00 m. GUR ®.
1.305, 2.635, 3.950, 1.365, 1.950, 2.400.
£5 WUlol HIZ AR, AA WL A A@AU AL AN, AT A

Sl AeSall Guanlol s

RNeal oLs sl cma saul Yl tulolMl Avcll SN ? 0%0
g2 ol ULUR Aol dglalcd wUM. ¥

slRuloll HI2 W(Sdell catcrel 3cll A sl ASA 2 03
sUAloll TR (HU) wal ARl slglecdl Hosodle GuR adl 03

VYR seucl.

4/4



